b 22 & ) m B o 0
B & W&

= NE A

I. 585

AEZBEHBRAZRG HEAFEXGHEEBZEG2HE
i b B2 B Py BE o0 (e B eboy ) B 2E R 15 0 I i B o o s B 0

MR EREGER -

I IR REmEHEE

Vi B L ARG B B R R AR L > B e A IR B - e T AF
(ECA

— TSR Z B
— BRI
— R E &R Z I A BE Y HY R R

K& U Mo rREERERREREE 2T —NE+—
HEREE R NG R - E I mA R AR NERERZEFRR - £ —=
T =01 BB R 75 /K BRI ~ & 51 R SR e $E 18 8 1% 2 (] e BE )k T Ay B A
WA -

III. BEERGERE

;5 /K

B o0 R R AR e BT E AR NS K HE & AN R &Y WNETHE
GHTRIEFREIR o mE PO BEYIEE RS R T R A Rt
WEORISAKHVE & > FTARERYIIEBEZE Tk - 5% 5K
R AEMEAENE > EgI g ES  WAIKTEHYERFR -

W 55 19 75 7K 02 o7 L FEBCEY 5 — AL A0 5t & 48 il 5% i B o3 A o BEEELE
& RO PR A & 5 A PR -



fE 5] R

BEAFENWEREREZ2EHNEERENEFHUER ik
A B W aREREE -

B AL R o] B E 2 R A B Y B A T ROA I RO R 22
ROTARYIE B EE B4 - IAh o EAEIE B B B V) B X R ) &
FoMEREEN AR L RERER BB FFEHH
FibsmAEY 2% LE -

18 e & 2 [ B B2 V)

RETOMA LR Fe 86 & EEE LE2RERYE
6 E 2R & R - IR E R 2[5 G RV & 8 il A A sl ke — i &R
ITEEIEER > T XTEEHBEFREER -



B 52 g P o B P o0
KPR BB RS (ZE—RNE+F—H)

28 P2E il PR &h R 158 FERE
i (R/B)

% i [ 6-10 7.3-89 7.9 &
HEE (mg) 100 <30 - 30 30 pss
BEEE V)48 &2 (mg/) 10 <2 <2 s
MY E (ng/l) 2000 165 - 220 193 pss
WAL E (mg/h) 10 <0.5 <0.5 s
FLYEE (mg/)) 0.1 <0.04 <0.04 s
T E RS YRR (me/) 100 <15 <15 s
A HE  (mg/D) 20 <10 <10 s
Mm&eE (mg) 0.5 <0.3 <0.3 yoss
HWEREHEE (mg/)) 1 <0.6 <0.6 s
FHEDEMER (mg/) 15 <7 <7 s
LEFTFEHE (mg/) 2000 <100 - 214 157 yoss
B = (mg/) 200 <20-35 28 yoss
M (0) 43 29 - 31 30 =
T ¥V E (me/l) # - -

EEeE

i (mg/l) 2 <0.4 <0.4 =
#1 (mg/l) 5 <1 <1 =
5% (mg/D) 0.1 <0.1 <0.1 =
$&  (mg/) 1 <0.3 <0.3 =
3 (mg/) 2 <0.5 <0.5 =
B (me/l) 2 <1 <1 =
il (mg/l) 5 <0.2 <0.2 =
7K (mg/l) 0.05 <0.05 <0.05 =
58 (mg/l) 2 <1 <1 =
R (mg/l) 2 <0.4 <0.4 =
# (mg/l) 5 <1 <1 T
FE (mg/) 2 <1 <1 =
H e B E# (ng/) 10 <7.0 <7.0 s
B (mg/l) 5 <1 <1 =
% (mg/l) 10 <2 ) =
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Aldrin (mg/l) 0.01 <0.01 <0.01 s
BHCS (mg/l) 0.01 <0.01 <0.01 s
AKX ZEE (mg/) 0.01 <0.01 <0.01 v
FEZELEEY
KT (mg/l) 0.1 <0.06 <0.06 v
EEMLEY :
1,1,1- = & 2 % (mg/) 0.05 <0.025 <0.025 v
ZEBE
% & I K 48 & (mg/l) 0.003 <0.003 <0.003 yes
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28 22 1 R R &E 2 ISR FERE
(HEE =) @ (B/F)

(FF) =+4reEEgE @
ok (kg/0.5h) 0.58 0.00 - 0.02 0.00 =
& ABRE  (ke/0.5h) 3.86 0.00 - 2.35 0.09 =
B L (ke/0.5h) 1.16 0.00 - 0.27 0.03 =
FAEE  (ke/0.5h) 0.08 0.00 - 0.00 0.00 =
HEAEY
(L Z & 18 & 5 &) 771 0.06 - 3.55 1.59 =
(kg/0.5h)
aa 5t (ke/0.5h) 0.39 0.00 - 0.06 0.00 =
— &b B (kg/0.5h) 1.93 0.00 - 1.23 0.10 =
(z) B9 ©
i (kg/day) 9.25 0.02 - 0.08 0.04 =
— /bW (kg/day) 46.27 1.31 - 8.02 4,16 =
B e (kg/day) 9.25 0.66 - 2.41 1.47 =
#FALE (keg/day) 0.93 0.00 - 0.00 0.00 =
HEAY
(ML= & 1k & = &) 185.06 63.02 - 92.39 76.18 =
(kg/day)
HAH MR (kg/day) 9.25 0.01-0.18 0.09 =
— & B % (kg/day) 46.27 1.46 - 10.15 4.98 =
(W)  Hfi

28 28 i1 R 4R 7FE R E

(HERr =)@ (B/F)

AREIED o
CLER SR F) ke | 0P 00 =
BEBRALEY
(UL@EiE|R & EiTE) 0.73 <0.004 =
(kg/h)
% (DLW B8 51 50) (kg/h) 1.45 0.1 yiss
widEE(CIBEETE) ke/h) 0.21 <0.006 &
B RCRARE (kg/h) 0.19 <0.004 =
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(HEmr =)@ (B/®)
FESBE—EY:
E0BE —BNHE
ngﬁf’%(% ROWEE | 01 <0.0003 =
FESBE_ER©:
Rl (ke/h) 0.0023 <0.0001 =
FEEEGE _HENEE
ﬁgﬁ)}“%(% RO & 0.019 <0.0019 =
& (kg/h) 0.0019 <0.0001 g
—E (ng/h) 2891 143.6 =
ZE:
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(B/F)
B—H o
8 (hx 1K
% Wi 1 (/K) (E;!EE B 1107 124 2
)
EEE S %) |0 (;’Eﬁlﬁ 55-95 76.0 2
5)
EELE
#% (ppm) 0.5 <0.5 <0.5 =
7K (ppm) 0.1 <0.02 <0.02 =
A= (ppm) 10 <0.5 <0.5 =
#i  (ppm) <0.5-3.2 0.6
#%  (ppm) <0.5 <0.5
5 (ppm) <1.0-74 1.5
¥ (ppm) <0.5-0.76 0.51
g~ 88~ S5 - SR _
WE (ppm) 25 <2.5-8.9 3.1 E
# (ppm) 20 <1 <1 yasa
ALY (ppm) 10 <5 <5 y=3
ZREE (ppm) 10 <.0-34 2.1 =
ALY (ppm) 5 <5 <5 y=3
B EH S
H A% ALY AN
i;is’éx M Y& 5000 oy oy =
= (ppm)
B %K R EE _
(ppm) 10 <5 <5 TE
FAL Ky 42 2 o
(ppm) 2 <2 <2 &
% &N (ppm) 1 <1 <1 yiss
TCDD (ITEF
¢ ( £) 1 <1 <1 y=3

(ppb)




